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Question Numbers : (1 to 20)
Question Label : Comprehension



Data Sufficiency 0% Horge

Note: In questions numbered 1 to 20, a question 1s followed by data in the form of two

statements labeled as [ and I You have to decide whether the data given in the statements

is suffictent to answer the questions. Using the data make an appropriate choice from (1) to

(4) as per the following guidelines:

a) Mark choice (1) if the statement I alone 1s sufficient to answer the question

b) Mark choce (2) if the statement IT alone 1s sufficient to answer the question

¢) Matk choice (3) if the statement I and II together are sufficient to answer the question
but neither statement alone 1s sufficient.

d) Mark choice (4) if the statement I and II together are not sufficient to answer the
question and additional data 1s required.
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Sub questions

Question Number : 1 Question Id : 3350523992 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 1s the value of ‘x’?
K 'ToE) e os?

[) 3x+5=14

II) 2x+5y=11

Options :
|
1.4
2
2. %
3. % 7
4. % #

Question Number : 2 Question Id : 3350523993 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the age of Ramesh?

I) The sum of Ramesh’s age and his brother’s age is 50
IT) Ramesh 1s 10 years older than his brother.

BT Haddy) dos?
) 838 Hocke 08l PEHA Sobdne Iwdko 50
II) 338 080 VPSR BB 10 SosBkne DETH.

Options :
1. % 1

s,
2.% 7

¥

3.¢ 7



Question Number : 3 Question Id : 3350523994 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the perimeter of the rectangle?

I) The length of the rectangle is 8 cm.
II) The area of the rectangle is 32 cm”.

é:?; Sd(So T D Fod dod?
I) SR80 Sog) &PED 8 2ondo
II) S&8Ekn Gog) e 32 $88H Dondd

Options :
1

1. %

Question Number : 4 Question Id : 3350523995 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What 1s the speed of the train?

I) The train covers 240 km 1n 4 hours.
IT) The train is travelling towards North.

Ben 208 &En¥) Jfo Dos?
I) Bew 208 4 Howe SHchos® 240 8udon (HasrBSiob.

IT) oo 2ol add 5% (SSrfrtod.

Options :

1.4 ]

-2

Lad

Question Number : 5 Question Id : 3350523996 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Is triangle ABC a right-angled triangle?

I) ABC has angles 30°, 60°, and 90°.
II) The longest side is 10 units.

(Bsbadne ABC, 2% von &% (H2bade?
I) ABC &%) S'eaioen 30°, 60°%:80%0 90°.
IT) srE38 ghasin Fod 10 abrdix.

Options :

1
1.¢

-2



Question Number : 6 Question Id : 3350523997 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Is x a perfect square?

I) xisa positive integer.
IT) x 1s a product of two equal prime numbers.

X a8 3808 :.‘fJfé?!w*‘?
I) x a8 &8 Srorodo

IT) X Both Db (He@d Hogre wpsm.

Options:

1
1. %

2
2.9

3
3. %

4
4, ®

Question Number : 7 Question Id : 3350523998 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Isx > y?
X >y opdone?
Iy ¥=y—4

1) =10



Options :

1
1.%

2
2. %

3
3.¢
sx

Question Number : 8 Question Id : 3350523999 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a motor car is driven 150 miles, the fuel tank is filled to what percent of capacity at the
end of the trip?

I) The car averaged 15 miles per gallon for the trip

1T) The tank 1s filled to 75 percent of capacity at the start of the trip

o8 Brtrt T 0.8 Srld FE 150 Bt)) (Pabredold S8 © 8 ) 5048
&Péogé‘s 20880 dodFdo Sbeatod?
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Options :

1. % 1
2

2. %

3. % 3
4

4.+



Question Number : 9 Question Id : 3350524000 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the number of square units in the area of a circle is ‘A" and the number of linear units i
the circumference is “C’, what is the radius of the circle?

) A>C+3

I) AIC=3/2

28 §E3Tes’ ShEmme oy ‘A’ oud Hockn SityFed dhoh b e
dogy ‘¢’ YONa, © égé a‘g@"éo Jod?

) A>C+3

1) A/IC=3/2

Options :
1

1. %

2. ¢

Lad

4, %

Question Number : 10 Question Id : 3350524001 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Is p a prime number?

I) pisan odd number
I) p is not divisible by any number other than 1 and itself.

P BeeR Sogy ©vowa?
) pa¥ad oy,
I) pab88% &bk p &% 85 08 O 388 Sod*S rhodni.

Options :
1. %



2
2.9

3
3. %

4
4. %

Question Number : 11 Question Id : 3350524002 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

On which day of the week did Venkatesh visit the park.

I) Venkatesh did not visit park either on Tuesday or Thursday

IT) Venkatesh visited the park three days before his father reached his home, which was the
day after Wednesday.

F08* O B O F08ER SosGoms)?

) 3046% Holdmo B HhTred’ PO ‘éoé&fsoiﬁétﬁs.

II) 30885 88 Sol&md miido Shas 8 2080 IETEwAS S B duok
PO S0l

Options :
1

1. %

2

2. ¢

tad



Question Number : 12 Question Id : 3350524003 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the fifth term of the sequence.
I) Average of the first four terms of the sequence is 53
IT) Third term of the sequence is 72

EFBS°Q vondd Sogy dod?
) BB IS Teoid Sogge $T°E0 53.
II) (BBE°D Ko Hogy 72.

Options :

Lad

Question Number : 13 Question Id : 3350524004 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘What 1s the value of *x’?
‘X’cﬂwé& Dens wos?

I) x+2y=6

I) 3x + 6y =18

Options :
1
1. %
2



Question Number : 14 Question Id : 3350524005 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

How many bricks were needed to construct a wall?
I) The ratio of length to breadth of the wall is 8: 3 and each brick measures 19 x 9 cm.
1) The price of 100 bricks was Rs 500 and a total cost of Rs 12000 was mcurred in

purchasing all the needed bricks.
28 B& NEoBFI8 A stwder GG’
D) £% Guod) R, Sene N8 81 3 HBs atwé Feden 193 TR,
1) 100 ztwde 96 Sru500/- SBdk A& NEoErIE VRSN atwde 26

&-1112,000/-

Options :

(Y]

Question Number : 15 Question Id : 3350524006 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Is ‘x’ divisible by 27?
[) “x’1s divisible by 3
IT) ‘X’ 1s divisible by 6
‘X', 27 B rAosadhdon?
I X, 33 srAcdnddosd.
II) X. 6 3 rhcsntod.

Options :
1

-2

fad

Question Number : 16 Question Id : 3350524007 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the volume of the bucket?
I) The bucket is half filled.
IT) If 20% of the water inside the bucket s drained, 1t will be one-fifth filled.

E] G¥) H¥ddErn0 od?

) 238 380 Rod &ob.
I) &y DA 209 DAY 8335, 358° mow 288 S0 H% Sowood.

Options :
1

1. %



il

Question Number : 17 Question Id : 3350524008 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who is the shortest in height among Ram, Raju and Ravi?
I. Ram is taller than Ravi.

IT. Ravi is shorter than Raju.

oo, Toe 8D 8D 0&° AL FE T&?
I) oo&, 80 837 P8,

II) 83, ooe 3% 5‘.@%.

Options:

I

-2

Y

Question Number : 18 Question Id : 3350524009 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



pd\

C

What is the area of triangle ‘ACD?
I) The length of CD is 10 cm and the area of triangle ABC is 20 cm’

II) The length of BD is 16 cm,

(B4b0 ‘ACD @) Ferepo dod?
I) CD &) &resy 10 vond H8dk (Bebao ABC @g), 3eero 20 Siondon
IT) BD G¥) 865 16 Do

Options :

Question Number : 19 Question Id : 3350524010 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the average marks of a class?
I) The highest marks of the class is 100 and the lowest marks is 20

IT) The total number of students in class 1s 50.

S888 Tl BT Srtiyee dod?

[) 8848 Go¥) 483 rdneo 100 HoBckn 83 Srdyen 20.
1) $8¢86% Ngoe Sogyg 50.



Options :

1
1. %

2
2. %

3
3. %
4.9 1

Question Number : 20 Question Id : 3350524011 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the average salary of *Sita’, ‘Gita” and ‘Lata”?
I) Gita's salary is half of combined salary of Sita and Lata

II) Sita and Gita together earn Rs 50 more than Lata and Lata earn Rs 500.

58, A8 LBckn of Eno) o6 £80 dod?

D) A8 Goo¥), 30, b8 LBk of dero Emé_oﬁs e,

Il) &8 %8ck Ade dove o, o8 §7) Ern50/- A8, wed o8 £d0 1500/

Options:

1

-2

fad

Sub-Section Number : 2



Sub-Section Id : 335052268
Question Shuffling Allowed : No

Question Id : 3350524012 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (21 to 45)
Question Label : Comprehension

Problem Solving - Sequences and Series

NS DO B0 - @b (Edren S8k (Feen

Sub questions

Question Number : 21 Question Id : 3350524013 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Sequences and Series

RRAE DB B0 - @ DEIFen HEAD (Beew

Find the missing number:
Eo& ﬁr::sﬁg@éo&é‘g SRS Sogp EARoS.
2,6,12,20,7, 42

Options:
26
1. %
5 @ 30
32
3. %
36



Question Number : 22 Question Id : 3350524014 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number:
Bo& ﬁagﬁg@&&é‘g &°2008 Qogrd ERARE.
3,6.12, 24,7, 96.

Options :

48

60

Question Number : 23 Question Id : 3350524015 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number:

&o& ﬁoa?;}lgéfmmé‘g 58008 Qogp EXARoS.
05,245, 8,12.5.7.

Options :

16
1. %

18
2.9

17



19

Question Number : 24 Question Id : 3350524016 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number:
8o& ﬁr::a?&_!ééoéwé‘s 52008 Jogpie ERARoE.

100,97, 91,82, 7, 35

Options :

70
1.¢

71

68

69

Question Number : 25 Question Id : 3350524017 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number:
(el ﬁr::a.ﬁgﬂésﬁaﬁé‘g SR YA Doz EXoA”RoS.

1,2,6,24,7?, 720

Options :

100

120



150
3. %

Question Number : 26 Question Id : 3350524018 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the sum of all positive integers up to 1000, which are divisible by 5 and are not
divisible by 2?
53 Phodad £0c 2 3 rRcaid, 1000 8% fy &8 Frmore Indo dos?

Options :

10,050

Question Number : 27 Question Id : 3350524019 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of third and ninth term of an Arithmetic Progression is 8. Find the sum of the first
[1 terms of the progression.

28 ©o¥ L_é&éeﬁ) rda SaBake 5‘&:&6535 Rogpo Zdo 8 sowd @oé{_é&é‘sb 88 S8Fd
Sogpe Zndo EhFlod.

Options :

44
1.9



2. %

3. % 12
37

4. %

Question Number : 28 Question Id : 3350524020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster.

8od TOE 308 88 SiriFo 0k Boln vl Skl n“wcéé Honodind ©dkbod
et OF8 Ssarrokt Sonofodd g8 ki) Hhoowod.

JETW : TOYZ ::KCSZ:?
Options:

UMYF

1. %

UMXC
2. ¥

SLYC

SLXF

Question Number : 29 Question Id : 3350524021 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Select the option that is related to the third word in the same way as the second word is
related to the first word.

808 TS Ik S50 HB0kn Dok Hidee 535,5 Sonoland ©&Hbod frds
S58nR% Soncdol Hrl) Hhooed.

Oak: Tree ;; Rose : ?

Options :

Flower
1.9

Flavor

Love

Pink

Question Number : 30 Question Id : 3350524022 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that i related to the third letter in the same way as the second letter-
cluster 1s related to the first letter.

8od TRE Fndd oftEn ook ol v Shrify ‘o‘iccﬁé Honoland ©&Hsod
Sartss) OE8ENNE dowoBodd BEY SRR Hhiodod.
a:0ne: £:7
Options :
Six

1.4

Fail
2. %

3. %



Gail

Eight
4. %

Question Number : 31 Question Id : 3350524023 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the odd one out from the following series:
Bod =RE° HHZo¥ AV KoBoBod.

Options:
Volcano
Sl Te)

= (%]

1. %
Earthquake
FrBodo

2. %

Tsunami
0T Al

3. %

Chemical explosion

Siraid DRFLEo

Question Number : 32 Question Id : 3350524024 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the odd one out from the following series:
8o TRS° DB TR KoBoBod.

Options :



Asia

hleviy
1. %

Africa

g
2. #

China

B°
3.¢

Europe

OB
4. %

Question Number : 33 Question Id : 3350524025 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing number in the following number series:

Bo& ﬁasﬁg@sﬁﬁe &0 Rogpie HoBoWod.
266. 196, 256, 169,

Options:

265

256

-2
-2
h



Question Number : 34 Question Id : 3350524026 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number in the following:
Bod =RE° &0 Sogpo hdoKod.
16: 64 :: 36:

Options:

128

144

100

Question Number : 35 Question Id : 3350524027 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing term in the following:

Bod =R&° &5 OES S8t Hgodod.
CAP: B7Q : 5IT ;

Options :

LHS
MUD

RHS



NHS

Question Number : 36 Question Id : 3350524028 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing number in the following:
808 TRE° &°18 Sogpd KoBosod.
4: 18 -9

Options:

81

Question Number : 37 Question Id : 3350524029 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing term in the following:
8o TS 08 VEY SR KoBoBod.
PRINT: RPITN :: BLANK:

Options:

ANKBL



KLABN

NAILBK

[LBAKN
4. &

Question Number : 38 Question Id : 3350524030 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number in the following:

Bod =& &0 sogpi Mhbodod.

530 -4
Options :
20
1.¢
40
2. %
60
3. %
80
4, %

Question Number : 39 Question Id : 3350524031 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing letter in the series.
8ob vE8 3FBS° b8 wEed) HhHdobos.
) o DR ¢



Options :

T
1. %

U
2. %

S
3. %

R
4.

Question Number : 40 Question Id : 3350524032 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing number in the series.
Bod (FBRE° &5 Sogp Hogowod.
3, 713,21, 31,

Options :

43
1.9

L
L)

Question Number : 41 Question Id : 3350524033 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Find the missing number in the series.
Bod (FAE° &5 Sogps Hgowod.
.12, 26, 54, 110,

h

Question Number : 42 Question Id : 3350524034 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the missing number in the series.
Bod |TBSE° &4 Sogrd hotod.
96, 60, 35, 19, 10,

Options :
4

LS

-3



Question Number : 43 Question Id : 3350524035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the missing term in the series.
Bob ©ES J&rE (ZBS° &5 ©E8 [t Hood.
OK., PL. QM. RN,

Options :
TV

1. %

2.s 10

SV

SO

Question Number : 44 Question Id : 3350524036 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the odd thing from the following.
Bod RE° P8 TRV KoBoBod.
Options:
Eiffel Tower
&3S w6

Statue of Liberty

D ©f d2b
] = e



Great wall of China

B &S &5 3o

Mount Everest

7ol 2485

4. &

Question Number : 45 Question Id : 3350524037 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the odd number from the following.

&o& Q& P Io ‘n’:aoaaaﬁz Edofitdod.

Options :

13

41

Sub-Section Number : 3
Sub-Section Id : 335052269
Question Shuffling Allowed : No

Question Id : 3350524038 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 49)
Question Label : Comprehension



Problem Solving - Data Analysis

DRrg nBary 80 - A8 08 Mam

DIRECTIONS for questions 46-49: Refer to the table given below and answer the
(uestions.
3846 sON  SirTUD S4ERiod [ 46-49 0 Sirine sl

Table shows the number of female children born in rural and urban areas of 4 different states (A
to D) m 3 consecutive years (2020 to 2024).

(Bob 588 et PEPed® (A to D) (rdie Hocn Sigm (FoTed’ oauth $S

Sosd8iaus® (2020-2004) =088 wldge Sogyi 300ER0D.
Year/States | A B € D
Rural | Utban |Rural |Urban |Rural |Utban |Rural | Utban
2020 00 1925 (495 825 (905|910 |1090 |965
2021 825 1011 600 |845 |910 |902 |1230 |1030
2022 910 | 1125 645 |84 1937 1900 |1160 |[1370
2023 1003|1210 765 (950 1110 |890 | 1340 |1290

2024 1200 1315 630 (980 1200 (885 | 1250 | 1100

Sub questions

Question Number : 46 Question Id : 3350524039 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which state recorded the highest number of female children born in the year 20247

20245 ‘:6056‘3555\:;5‘5 A m@oé‘s s¥dow a¥ko ﬁE:?’.aqom SargRa?

Options :

A
1.¢



Question Number : 47 Question Id : 3350524040 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the year 2024, which state had the largest difference in the number of female children
born between its rural and urban areas?

2024 Sod8iné’ o m@oé’a P %8 Bum (o a0t viibee K:oa;gué‘s
Y 5} ) ™
8o D& 4087

Options :

A
1. %

B
2. ¥

(:1
3. %

D
4, %

Question Number : 48 Question Id : 3350524041 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What was the percentage increase in the female child born in state C from the year 2023 to
20247

‘C v m@oé‘s 20233 a’aoéénjtia’mé‘s R0 ety dogp $08 2024 & ﬁoéé&é&:ﬁs
2008 wbge Sogpd® Wik Pho 208?



Options :

Question Number : 49 Question Id : 3350524042 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which is the only state which recorded continuous fall in the number of female children
bomn in its urban area over the last 5 consecutive years?

o W@oé‘g 2% sonth o Sined’ S FFodod’ =0l vidge Sogy S
S0)eh?

Options :

D

Sub-Section Number : 4
Sub-Section Id : 335052270
Question Shuffling Allowed : No



Question Id : 3350524043 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (50 to 52)
Question Label : Comprehension

Problem Solving - Data Analysis

DRs 0Bk 80 - dErol Anm

DIRECTIONS for questions 30-32: Refer to the line graph given below and answer the
questions.

1808 ge 9w chotbitfo SErim wihon (e 50-52 o SrTime S8,

The lme graph shows profits of a company (in < lakhs ) over 4 years:
O g0 o K00 Gy et SosdBine e $R0%08. (Grivkw)

160

Profi

80

2019 2020 201 2022
Year

Sub questions

Question Number : 50 Question Id : 3350524044 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the percentage increase in profit from 2019 to 20227

2019 & $%973, 2022¢° S0 Gw¥) Fod” BEhEL To Jo¥?



Options :

87 %

Question Number : 51 Question Id : 3350524045 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The percentage increase in profit during 2020 to 2021 is:

2020 & 0% 20218° 00 Go¥), FoE DB FTEo Jod?

Options :

50 %

0 %

(b

Question Number : 52 Question Id : 3350524046 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



For how many years was the profit of the company more than one Crore rupees’

O vondhBwe o o ci&:oé& o B8 Srdrone 5 &ré:@aim &08?

Options :
4

-2

(%]

Sub-Section Number : 5
Sub-Section Id : 335052271
Question Shuffling Allowed : No

Question Id : 3350524047 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 55)
Question Label : Comprehension



Problem Solving - Data Analysis

Hdars 9880 - Eod Dian

DIRECTIONS for questions 53-35: Refer to the pie chart given below and answer the
questions.

(208 Sodh 38¢ dhotb o SipmSind ad@rAol) e 53-55 0B Sirgriine wilied.
The pte chart shows the expenditure breakdown of a famuly.

nodd K‘)%é o8 ténono @wé& Y vDTOE Honododd aatbgen DRTOR é@cﬁaé@ofb.

Pie Chart

ol

/ Others
15% Rent

25%

Transport
10%

Education
15%

Food  /
% /

\l

Sub questions

Question Number : 53 Question Id : 3350524048 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If total monthly expenditure is I 48,000. what is the amount spent on Education?

o Su8° Fndo vy T 48,000/~ ©oud DK 8% T8 98y od?

Options :

3 6.800



X 7.200

2.

X 6.500
3. %

< 7.000
4. %

Question Number : 54 Question Id : 3350524049 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If total monthly expenditure 1s ¥ 48,000, how much more expenditure was incurred on Rent
compared to Education?

3u Fngo vk T48,000/- wowd D §8G Th8 phd PO 6B T dod
Sndo JEIT i) e8!

Options:

3 4.800

X 8.400

Question Number : 55 Question Id : 3350524050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



If the expenditure on Transport is < 8,000, what 1s the expenditure on Education and Rent
put together for the same family?

(Bdlee Sowodd plen EF18000/- ©o3 Rl lely vge 8% 308 gl Fedo
a08?
Options:

316,000
< 24,000

X 32,000

3. ¥

< 28.000
4. %

Sub-Section Number : 6
Sub-Section Id : 335052272
Question Shuffling Allowed : Yes

Question Number : 56 Question Id : 3350524051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

Daiarg H8ary 80 - $BOR H8ckw AFBoR e

If ‘SMART" is coded as ‘UNCRV” how is ‘SHARP’ coded?
2.8 5088 griabots ‘SMART'® ‘UNCRV'm (&%, ‘SHARP'& ™ (5.

Options :

UJBTV
1.4



UJCRV

UTBQV
3. %

UJBPU
4,

Question Number : 57 Question Id : 3350524052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

Deiarg H8ar80 - ¥Bof 80k AFBOR NN

If ‘LEMON" is coded as ‘'NGOQP’ how would ‘JUICE’ be coded?
28 %088 ol ‘LEMON'S ‘NGOQP'm (&3, ‘JUICE' & ™ (T,

Options :

LWKEG
1.¢

LWKEF

LWKFG

LWKDG

Question Number : 58 Question Id : 3350524053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

Deoars H8ar;80 - $B0R 80k AFAOR D

If ‘TABLE’ 1s written as ‘VCDNG'. how would ‘CHAIR’ be written?
28 X088 ridhos ‘TABLE'® ‘VCDNG'm va'ﬁ,;, ‘CHAIR’ & ™ (TR,

Options :

EJCKT
1.4

EJCKS
EJBKT

EJBKS

Question Number : 59 Question Id : 3350524054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

DRrs 9880 - FB0R H8ckn AFBOR NN

If ‘SCHOOL " 1s coded as ‘TDIPPM how i1s ‘TEACHER’ coded?
28 $088 gradho ‘SCHOOL'® ‘TDIPPM'm (%, ‘TEACHER & ™
TS,

Options :

UFBDIFS
1.4

UFBDIFT



UFBDIJEFS

UFBDJEF

Question Number : 60 Question Id : 3350524055 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

Dduarg H8ar80 - $B0R S8k AFB0R HHDse

If ‘GREEN" 15 coded as ‘TUGGP’ how i1s ‘BLACK" coded?
28 $088 dchod ‘GREEN'S ‘TUGGP'™ (&%, ‘BLACK & ™ (TS,

Options:

DNCEM

DNDEM

DMDEN

3. %

DODFM
4. %

Question Number : 61 Question Id : 3350524056 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

Ddars H8ar80 - ¥8of 8ok AFBOR DN

If SITE=S3T2. COAIL=C41L. then AROUND is written as?
2.8 0eh%8m088 SITE=S3T2 &8c% COAL=C41L voxd AROUND =

Options:
145RND

1. %

IR45ND
2.

IR4NSD
3. %

IR4ANDS

Question Number : 62 Question Id : 3350524057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Selving - Coding and Decoding Problems

DR D880 - FR0R H8a% AFBoR Hdds

If HELLO is written as 23-20-1-1-4. how is SWELL written?
2.8 Fo8888m08® HELLO & 23-20-1-1-4 =5 SWELL & ™ (.

Options :

8-12-20-1-1



10-16-20-1-1

8-16-20-1-1

Question Number : 63 Question Id : 3350524058 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

DSArs D880 - SBOR S8k ASBOR Nl
I[f FRAGRANCE 1s written as HPCETYPAG, how can IMPOSING be written?
2.8 Po8h8dmo8® FRAGRANCE & HPCETYPAG m 3 IMPOSING&
s,

Options :

KKRMUIPE

1. %

KKRMUEPE

KKROUIJPE

KKRMUGPE
4.

Question Number : 64 Question Id : 3350524059 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Coding and Decoding Problems

DS H8)80 - FB0R H8akn AFB0R d%eN

If *+" stands for division, *+" stands for multiplication, °x” stands for subtraction and
" stands for addition

T grhod i, <+ & HhiBod Hhmd, X & 8238 Kb Hoak - §r88
oy $5G@rRoRBownd (Eod RS $B8 [babo.

Options :
18-6-7+5x2=2/3

1. ®

18+6+7x5-2=18
2.

18x6+7+5-2=16
3. %

18+6x7+5-2=22
4, ®

Question Number : 65 Question Id : 3350524060 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Coding and Decoding Problems

D%s 98ary80 - §80R H8akn AFB0R dh0gL

In a certain code, the number 12345 1s coded as 36936. What will be the code for the number
093257
2 H0BSRE® 12345 36036 SO, €8 i€ 993258 e Ok

Options :

99966
1.¢



2. %
718356

3. %

37649
4, %
Sub-Section Number : 7
Sub-Section Id : 335052273
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 3350524061 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Selving - Date, Time and Arrangement Problems

DSRPs H8r) 80 - B8, Do Bk BsHBEe Hddgen

If 15" August 2022 was a Monday, what day of the week was 5 August 2023?

15 ef, 2022 Rbmdo vowa, 15 ey 2023 Bo ©5%08?

Options:
Monday
Rbsoaedo

Tuesday

swol¥ardo

Wednesday

Cenlatoilele



Sunday

Question Number : 67 Question Id : 3350524062 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

D D8 80 - B8, Hhoko S8 BHBEL DD

What will be the angle between the hour and minute hand at 3:307
Ssadko Boi3: 3001 LRk, K808 Kobe gy 08 AdaPy aweye S

B0 dos?
Options :

60°
1. %

75¢
2. ¢

45°
3. %

90°
4, %

Question Number : 68 Question Id : 3350524063 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

A&arg 5880 - B8, oo S8k wHBEe HdHdgen

A train running at 60 kn/hr takes 30 seconds to cross a platform of 400 meters. What is the
length of the train?

ot 60 &ndon FKod® (Heirdod Bep, o8 DRS6° 400 on £ &y

3 ) 658
3026808 83, © Beo SR6) dod?

Options:
200 m
200 on
1. %
300 m
300 on
2. %
100 m
100 on
3. v
500 m
500 on
4. %

Question Number : 69 Question Id : 3350524064 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Problem Solving - Date, Time and Arrangement Problems

R H8ar) 80 - B8, H%3%H0 S8k BH8¥e dRse

In a row of students, A is 12 from the left and B is 17 from the right. If there are 30

students in the row, how many students are between A and B?
30 S0l Amghen o ¥ $656° A o A0 A Mok 126 i S0
B o dmgd %35k 175 b cowd, dmhen A Bk B oty Qo8 dod
e dotrd?

e
Options:

2

1. %
2. ¢

3. %

Tad

Question Number : 70 Question Id : 3350524065 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

NadoRrg 98P 80 - B8, D350 SH80% BHBLL ML

A clock gains 2 minutes every hour, If it was set right at 6:00 AM, what will be the time
shown at 6:00 PM on the clock?

2.8 Bédrdo o Dot Adirer wBSHNP Srakod. & Hadrdo Jkdrd) aldbo
%0116.00 211 $55800¥0owa, Fdbodo Kon6.00 A KErSe ¥rdod Hikdho dod?



Options :
6:20 PM

1. %

6:24 PM
2. ¥

6:12 PM

6:30 pm

Question Number : 71 Question Id : 3350524066 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

DR 2880 - BB, D0 HBAKN BHBEL DHHI

Ramu starts his car from his house to reach the airport. If he drives his car at 10 km/hour,
he will reach the airport, 3 minutes late. If he drives at a speed of 20 kmv/hour, he will reach
the airport, 6 minutes early. What is the distance between Ramu’s house and the airport?

ik 508 ood ArTFubod ThE' 3 Howd 10 Bl 3Ho8 [uirdy
ARrTFEREE 3 Absive sodom b, HBd fov® 20 S 3Ko8°
Pl DrEeseal 6 Adiinen Snote F&R)eowE, T 508 fod

Qe EoirR8 o drbo aod?

Options:
4 km

4 &udon



5 km

5 &ndon
3 kmm
3 &udon
3.¢¥
6 km
6 &udon
4, ®

Question Number : 72 Question Id : 3350524067 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Problem Solving - Date, Time and Arrangement Problems

NP D880 - BB, %30 HBAN BHBEL AKN N

‘A", ‘B’ ‘C", ‘D’ and ‘E’ are members of the same family. There are 2 fathers, 2 sons and
2 wives in the family. 3 of the family members are males and 2 are females. A is a teacher.

The teacher is the wife of lawyer. The lawyer is the son of E. C is the youngest person in

the family while D is the eldest. E is a female and B is a male. How is ‘D’ related to ‘E*?
A.B.C.D%8c% E e 23 $inomo Sefpe, © binonodt agtia dolhen, agd:

e wbok agfﬁa Foe aTb. Siow ﬁ@éaé‘s mf‘%fﬁa e fbok aéifo @&
A8 B5%. B3% bl g, b, E 8 &ilrih. € 8 $monos® wokd &) 9%
Sk &bk D wok ¥ DYk, Eak (3 %0 Ba¥ 9650 omd D.E%

VRDFR?

Options:
1.4



Husband
5

Sub-Section Number : 8
Sub-Section Id : 335052274
Question Shuffling Allowed : No

Question Id : 3350524068 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (73 to 75)

Question Label : Comprehension



Directions for answering Q.Nos: 73t0 75 :
Six persons P, Q, R, S, T, U are sitting around a circular table facing center, not necessarily in
the same order
a. *S’1s sitting to immediate right hand side of ‘R’
b. ‘P’ is ot sitting next to ‘T’
¢. “T"is sitting opposite to “S”
d. ‘Q’is sitting opposite to ‘P’
e - (8o Qudbamul ©XiBod) T3 %ok 75 888 fo [H¥ed Sirprisne aod,
P.QRS.TU ek ohbh o8 HEss oy oY) Tolko $rde 2y By S,
= T 36 58 S &ENS B
2. R'& 88 B3 SEhmb.
b, TiE48 P &6
¢. ‘T% ‘Sedingor &lmb.
d. Q"% P’ efngor S,
Sub questions

Question Number : 73 Question Id : 3350524069 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who is sitting to the immediate right of “U’:

U S HEZH &byl T8 57

Options:
B

1. %

2. % 3



Question Number : 74 Question Id : 3350524070 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who is sitting opposite to ‘R’?

RS ofdogor S8 o8 A5%?

Options :

Question Number : 75 Question Id : 3350524071 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who is between “T" and ‘R’?

‘T’ %8c%n ‘R’e 5::55 Ering) T IRL?

Options :
P
1. %
Q



3. %

4 §
4, %

Communication Ability

Section Id : 33505259
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 54
Number of Questions to be attempted : 54
Section Marks : 70
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 335052275
Question Shuffling Allowed : Yes

Question Number : 76 Question Id : 3350524072 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT similar in meaning to the word procure?

Options:

obtain

acquire

eliminate

purchase



Question Number : 77 Question Id : 3350524073 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s NOT similar in meaning to the word redundancy?

Options :
CXCESS

superfluity

necessity
3. ¥

surplus
4. %

Question Number : 78 Question Id : 3350524074 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the following word:
“Vindictive”

Options :
strategic

trivmphant

demonstrative

revengeful



Question Number : 79 Question Id : 3350524075 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

The usher showed us

Options:

how to take photographs

when to comb our hair

where to sit

how to dance

Question Number : 80 Question Id : 3350524076 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:
The of our civilization from an agricultural society to today’s complex
industrial world was accompanied by war

Options :

metamorphosis

adjustment
2. %

migration
3. %



route

Question Number : 81 Question Id : 3350524077 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

The soldiers received a military to mspect all their vehicles before travelling.

Options :

allotment

mandate

dominion

affectation

Question Number : 82 Question Id : 3350524078 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that is similar in meaning to the word negotiate:

Options :

Discuss and reach an agreement
1.4

Refuse to compromise in a discussion

End a business partnership



Avoid communication with other parties

Question Number : 83 Question Id : 3350524079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person who is indifferent to pleasure or pain is called

Options :

Cynic
1. %

Stoic

Pessimist

Optimist

Question Number : 84 Question Id : 3350524080 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the Synonym for:

“deny”

Options :

refuse
1.9

accept
2. %



create

force

Question Number : 85 Question Id : 3350524081 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the Synonym for:
“malady”

Options :

happiness

1llness
2.%

marturity

musical

Question Number : 86 Question Id : 3350524082 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct meaning of the following word:
“Resilient™

Options :

Tough
1.¢



Fragile

2. %

Silence
3. %

Lazy
4, %

Question Number : 87 Question Id : 3350524083 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with suitable word:

The committee’s decision was based on evidence rather than speculation.

Options:

Unreliable

Hypothetical

Baseless

Tangible

Question Number : 88 Question Id : 3350524084 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the Antonym for:

“benevolent”

Options :



blessing

beneficial

malevolent
3. ¢

benefactor

Question Number : 89 Question Id : 3350524085 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the Antonym for:

“gradual”

Options :

slow

sudden

continuous

graduate

Question Number : 90 Question Id : 3350524086 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the Synonym for:

“enormous’

Options :

tiny
1. %

huge
2.

timid

moderate

Question Number : 91 Question Id : 3350524087 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences correctly forms a question?

Options :

Can you tell me where is the conference room?

Can you tell me where the conference room 1s?
2.v

Can you tell me where located is the conference room?
3. %

Can you tell me where does the conference room is?

Question Number : 92 Question Id : 3350524088 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable word in the sentence below.
Many experts believe that  innovation is key to staying competitive in the global

market,

Options :

1&;3

dall

the

no article
4, &

Question Number : 93 Question Id : 3350524089 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable word in the sentence below:

He is honest mann.

Options :
d

dan

the

no article



Question Number : 94 Question Id : 3350524090 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with suitable word:

I can’t find my bag . Has anyone seen it?

Options :

though

ds

still

nevertheless

Question Number : 95 Question Id : 3350524091 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blanks with a suitable word in the sentence below:
I cannot interfere his affairs.

Options :

=

for

at

n



with

Question Number : 96 Question Id : 3350524092 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blanks with a suitable word in the sentence below:

He was deaf all our requests.
Options :
for
1. %
with
2. %
at
3. %
o
4. v

Question Number : 97 Question Id : 3350524093 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct passive voice:

My friend is cooking the food.

Options :

Food is being cooked by my friend.
1.¢

Food being cooked by my friend.



Food was being cooked by my friend.

Food has been cooked by my friend.

Question Number : 98 Question Id : 3350524094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the direct speech for the following:

He said that he had finished his homework.
Options :

“I have finished my homework™. he said.
1.¢

“T should finish my homework™. he said.

2. %

“T finished homework™, he said.
3. %

“T will finish my homework™, he said.
4. %

Question Number : 99 Question Id : 3350524095 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with suitable word:

I got an emergency phone call my meeting,

Options:

while
1. %



since

2. %

during
3. ¥

even
4. %

Question Number : 100 Question Id : 3350524096 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with a suitable word in the sentence below:

The new marketing strategy was designed to the brand’s image and attract a

younger audience.

Options :

tarnish

elevate
2.9

weaken
3, %

obscure

Question Number : 101 Question Id : 3350524097 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Fill in the blank with a suitable word in the following sentence:
If1 known about the change in plans, I would have arrived earlier.

Options :
have

1. %

had

2. ¥

would have
3, %

would have had

Question Number : 102 Question Id : 3350524098 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

The scientist’s theory was by vears of extensive research and experimentation.

Options :

Corroborated
1.9

Contradicted

2. %

Weakened
3, %

Rejected
4, %

Question Number : 103 Question Id : 3350524099 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

She walked her house the supermarket.
Options :

onto. up to
1. %

off. towards

out of. on

from. to
4. &

Question Number : 104 Question Id : 3350524100 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:
I'm always really busy December.

Options :

01
1. %

Question Number : 105 Question Id : 3350524101 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Fill in the blank with suitable word:

[ am sorry the mistake.
Options :

on
1. %

with
2. %

for

at

Question Number : 106 Question Id : 3350524102 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which sentence is grammatically correct?

Options :

Me and him went to the park.
1. %

He and I went to the park.
2. ¥

Him and me went to the park.

I and him went to the park.

Question Number : 107 Question Id : 3350524103 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which sentence uses the correct subject-verb agreement?
Options :

The books 1s on the shelf.

The books are on the shelf.

The book are on the shelf.

The books was on the shelf.

Question Number : 108 Question Id : 3350524104 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct form of the verb:

"They have to the beach."

Options :
Go

Went

Question Number : 109 Question Id : 3350524105 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Identify the pronoun in the sentence “Raju completed his homework™.

Options :

Raju

completed

his

homework

Question Number : 110 Question Id : 3350524106 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sentence:

Options :

He wants to see you.

He 1s wanting to see you.

2. %
., He want to see you.
3. %
He wanting to see you
4. %

Question Number : 111 Question Id : 3350524107 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does "SEO" stand for in digital marketing?

Options :

Secure Email Optimization
1. %

Search Engine Optimization
2.

Social Engagement Optimization

Secure Online Encryption

Question Number : 112 Question Id : 3350524108 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does "B2B" stand for in e-conmunerce?
Options :

Business to Business
1.9

Business to Bank
2. %

Bank to Business

Brand to Brand

Question Number : 113 Question Id : 3350524109 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a key financial statement used in business?

Options :

Income Statement

Balance Sheet

Statement of Cash Flows

Employee Performance Report
4.+

Question Number : 114 Question Id : 3350524110 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does "SWOT" analysis stand for?

Options :

Strategic Weaknesses, Opportunities, and Threats

1. %
Strengths, Weaknesses. Opportunities, and Threats
2.v
Systems. Workflows, Opportunities, and Threats
3. %
Sales, Workflows. Objectives, and Targets
4. ®

Question Number : 115 Question Id : 3350524111 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



One of the equal parts into which the ownership of a company is divided is called

as

Options :
Royalty

1. %

Share
2.9

Investment
3. %

Deal

Question Number : 116 Question Id : 3350524112 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which business function is responsible for recruiting. tramning, and managing employees?

Options :

Operations
1. %

Marketing

Human Resources

Finance

Question Number : 117 Question Id : 3350524113 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What is phishing in cyber security?

Options :

A method of encrypting sensitive data

A social engineering attack to steal personal information
2.

A technique used for network penetration testing

A way to remove malware from infected systems
4. %

Question Number : 118 Question Id : 3350524114 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does "HTML" stand for?

Options :
Hyper Text Markup Language
1.¢

High Technology Machine Language

Hardware Transfer Management Logic
3. %

Host Terminal Maintenance Link
4, ®

Question Number : 119 Question Id : 3350524115 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What does “PDF" stand for?

Options :

Page data file

Portable document format

Print display function

Primary data form

Question Number : 120 Question Id : 3350524116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is a "minutes" document?

Options :

a financial report
1. %

a legal document

a record of a meeting
3.¢

a marketing plan
4. %

Question Number : 121 Question Id : 3350524117 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

In a business context “Think outside the box’ means to

Options :

Think of traditional methods and avoid change
1. %

Think creatively and consider new ideas or solutions
2. ¥

Think within the limits of a given task
3. %

Avoid taking risks in decision-making
4. %

Question Number : 122 Question Id : 3350524118 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Question Statement:

What is a hard disc in a computer?
Options :

A device used to connect peripherals
1. %

The primary storage device for saving data and programs
2.

A type of memory used for temporary storage
3, %

A component that mana ges network connections



Question Number : 123 Question Id : 3350524119 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of "Enterprise Software"?

Options :
Etsy

1. %

Salesforce

WiX

Amazon

Question Number : 124 Question Id : 3350524120 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of an "open-source" software?

Options:

Microsoft Office

Windows

Linux

Adobe Photoshop



Question Number : 125 Question Id : 3350524121 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following describes a "Data Warehouse"?
Options:

A location where physical data is stored

A system used to store and analyse large volumes of business data

A repository for creating presentations

3. %

A device for storing backup copies of business files
4. ®
Sub-Section Number : 2
Sub-Section Id : 335052276
Question Shuffling Allowed : No

Question Id : 3350524122 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (126 to 130)
Question Label : Comprehension



Read the following passages and choose the correct answers for the questions 126 to 130.

The earliest known book was printed m China mn the year 868 and metal type was 1 use m
Korea at the beginning of the fifteenth cenury, but it was in Germany around the vear 1430 that
a printing press using moveable metal type was mvented. Capitalism furned printmg from an
mvention tnto an idustry. Right from the start, book prnting and publishing were organized on
capifalist lmes. The biggest sixteenth-cenfury prmter, Plantam of Antwerp, had twenty-four
puntmg presses and employed more than hundred workers. Only a small fraction of the
population was literate, but the production of books grew at an extraordiary speed. By 1300,
some 20 million volumes had already been prmted (Febvre and Martm 1976). The mmediate
effect of printing was to mcrease the curculation of works that were already popular m a
handwritten form, while less popular works went out of circulation. Publishers were mterested
only m books that would sell fanly quickly m sufficient numbers to cover the costs of
production and make a profit. Thus, while printing enormously mereased access to books by

makmng cheap, high-volume production posstble, it also reduced choice.

Sub questions

Question Number : 126 Question Id : 3350524123 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The printing press using movable metal type was invented in

Options :

China

Germany
2.



Korea

France
4, ®

Question Number : 127 Question Id : 3350524124 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

By the year 1500, around million books had been printed.

Options :

]

1. %

Question Number : 128 Question Id : 3350524125 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Printing reduced choice because publishers focused on books that

Options :

Had historical significance

Could sell quickly and profitably

Were approved by the government



Had artistic illustrations

Question Number : 129 Question Id : 3350524126 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The role of capitalism in printing was to transform it into a(n)

Options:
Hobby

1. %

Religious duty

Industry
3.v

Art form
4, %

Question Number : 130 Question Id : 3350524127 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The word “circulation” in the passage refers to the of books.
Options :

Creation
1. %

Storage
2. %

Distribution



Remowval

4, %

Sub-Section Number : 3
Sub-Section Id : 335052277
Question Shuffling Allowed : No

Question Id : 3350524128 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (131 to 135)
Question Label : Comprehension

Read the following passage and, based on its content, choose the correct answer for each

of the questions from 131 to 135.

Climate change 1s often framed as a problem requiring government mtervention and corporate
responsibility, but mdividual actions also play a crucial role. Systemic changes such as
transitioning to renewable energy and enforcing stricter environmental policies are essential.
Small Iifestyle adjustments can also collectively have a significant mpact. Mmimisimg waste
and opting for public transportation or cycling mstead of driving are some steps individuals
could take. However, these may not always be practical. It 15 also mportant for people to be
aware that consumer choices mfluence mdustries; for mstance, mereasmg demand for
sustamable products encourages busimesses to adopt eco-friendly practices. Critics argue that
focusing on personal responsibility shifts attention away from large-scale solutions. The

challenge lies i balancing mdividual action with systemic change, ensuring that governments

and corporations take accountability while everyone contributes to a more sustamable future.

Sub questions

Question Number : 131 Question Id : 3350524129 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of an individual s action to combat climate change?
Options :

Using public transport
1.¢

Implementing government policies
2. %

Expanding industrial production
3. %

Investing in fossil fuels
4. %

Question Number : 132 Question Id : 3350524130 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Why do some critics oppose focusing on individual action?

Options :

Individuals are not responsible for climate change.
1.%

Governments have already taken sufficient action.
2. %

It does not affect businesses.

It ignores the role of large-scale systemic changes.
4.+

Question Number : 133 Question Id : 3350524131 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What is the main idea of the passage?

Options :

Climate change is the only responsibility of governments.

Both individual and systemic actions are necessary to address climate change
2. ¥

Individuals have no impact on environmental change.

Businesses are the only cause of climate change.
4. %

Question Number : 134 Question Id : 3350524132 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does "systemic" mean in the sentence: Systemic changes such as...?

Options :

Deeply embedded processes or frameworks
1.¢

Personal or individual traits

Unnecessary or insignificant aspects

Quick and easy to implement processes
4. %

Question Number : 135 Question Id : 3350524133 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What is the tone of the passage?
Options :

Aggressive and demanding

Pessimistic and hopeless

Neutral and informative
3. ¥

Humorous and sarcastic

Sub-Section Number : 4
Sub-Section Id : 335052278
Question Shuffling Allowed : No

Question Id : 3350524134 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (136 to 140)
Question Label : Comprehension



Read the following passage and choose the correct answers for the questions from 136 to

140.

“Leave 1t.” Kelsey could not begin to fathom what she was hearmg, In fact, a part of her began
to feel she was m some sort of dream, unable to emerge to wakefulness. Even the confractor
appeared flabbergasted. His mouth stayed in a half-open position, like a martonette waitig for
its strmgs fo be fugged. “Yes. Leave it.” Robert said again, speaking to the notion that someone
in the room had asked him to clanify his words. No one had, but Robert understood the stlence.
What were the chances that an Indian burial ground would be found on the bucolic site where
Robert and Kelsey had chosen to build their dream home? Why m the world would Robert not
want to have the remais carted away, thought Kelsey. The last thing they needed were Indian
poltergeists meandering around their home while the two of them were trying to renovate their
Mmarriage.

Kelsey, usually deferential to her husband, knew that now was the time to make her position
heard. She tried to cajole Robert away from the direction he was heading. “Sweetheart,” she
cooed. “We don't want to build on a site with human remaimns. Tt would be irreverent to the
dead.” Immedsately, she saw contempt m Robert’s eyes: 1t was a subtle remmder of how he
often viewed her as superficial and self-absorbed. “What would be mreverent.” said Robert, his
voice dripping with condescenston, “would be to desecrate these Native graves and move them
from thewr final resting place. Remember the culture.” No, Kelsey did not “remember the
culture.” She could not care less about the culture. However, Robett, the history professor, was
obviously enthralled by the contractor’s findings. He had an mnate way of understanding other
cultures and other people that amazed Kelsey. He did not have that gift with her. But something
mside Kelsey said this was too much. She believed wholeheartedly m ghosts and could not
imagime a life of them haunting her, rattling her cupboards, and shaking her floorboards. Kelsey
had an unnerving sensation that problems were ahead.

Sub questions

Question Number : 136 Question Id : 3350524135 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this passage. what 1s the synonym of flabbergasted?

Options :



dumbfounded

1.¥

hostile
2. %

querulous
3. %

unimpressed
4. %

Question Number : 137 Question Id : 3350524136 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If Kelsey had chosen to be deferential to her husband, what would she have likely told

him regarding his plans?
Options :

"Don't be silly."

1. %
"T'll leave you."
2. %
"T"'m not sure."
"Good idea."”
4. &

Question Number : 138 Question Id : 3350524137 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which adjective best describes Kelsey and Robert’s marriage?

Options :



busy

appalling

strained
3. %

good-natured

Question Number : 139 Question Id : 3350524138 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What about Robert seems to keep him from wanting to move the gravesite?
Options:

He is controlling.

1. %

He cares about cultural history.
2. ¥

He fears the Indians.

He is afraid of ghosts.

Question Number : 140 Question Id : 3350524139 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this passage what is the antonym of desecrate?

Options :

honor
1.9



excavate

2. %

defile
3. %

criticize
4, %
Sub-Section Number : 5
Sub-Section Id : 335052279
Question Shuffling Allowed : No

Question Id : 3350524140 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and choose the correct answers for the questions from 141 to

14.

The Importance of Media Literacy in Combating Misinformation:

[In an age of mformation overload, media literacy has become cructal for navigatmg the digital
landscape and combating mismformation. Media literacy mvolves developing critical thinking
skills to evaluate the credibility and accuracy of tnformation sources. Strategies for promoting
media literacy mclude educating mdividuals on how to 1dentify bias, distmguish between fact
and opinton, and recognize manipulative techniques. Schools, librarses, and community
organizations play a vital role i providing media literacy education. Digital tools and fact-
checking websites can also assist mdividuals in verifymg information. Soctal media platforms
must take responsibility for combating the spread of misinformation by mplementing robust
content moderation polictes and promoting media literacy mitiatives. Fosterng a culture of
skepticism and encouraging mdividuals to seek out diverse and reliable sources are essential for
burldmg a more informed and restlient society. By empowering indrviduals with media literacy

skills, we can strengthen democratic mstitutions and promote iformed civic engagement

Sub questions

Question Number : 141 Question Id : 3350524141 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is a key aspect of media literacy?
Options :

Accepting all information at face value.
1. %

2. ¢



Developing critical thinking skills.

Ignoring manipulative techniques.

Relying solely on social media.

Question Number : 142 Question Id : 3350524142 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is a strategy for promoting media literacy?
Options :

Encouraging reliance on biased sources

Educating on how to identify bias

Discouraging fact-checking

Ignoring manipulative techniques

Question Number : 143 Question Id : 3350524143 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who plays a vital role in providing media literacy education?

Options :

Social media platforms only.
1.%



Schools and libraries.
2. %

Disregarding all educational institutions.

Only fact-checking websites.
4. %

Question Number : 144 Question Id : 3350524144 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is a responsibility of social media platforms?
Options:

Promoting misinformation.

1. %
Implementing content moderation policies.
2.9
Ignoring fact-checking.
3. %
Encouraging biased content.
4. %

Question Number : 145 Question Id : 3350524145 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is essential for building an informed society?

Options :

Fostering a culture of skepticism.
1.4



Encouraging reliance on single sources.

Ignoring diverse viewpoints.

3. %

Promoting misinformation.
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Question Shuffling Allowed :

Question Number : 146 Question Id : 3350524146 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥Kede Rr8 0

Two trains 100m and 150m long, moving at 30 m/s and 20 n/s, cross each other. The time
taken by the trains to cross each other is;

Mathematical Ability

33505260
3

Online
Mandatory
55

55

55

0

1
335052280
Yes

100 &1 8% 150 Son &%) tlo Both Bew woth FB&E 30 S LBkn 20 Qi
08 L8R 288 T, ©0wd © Botb Benmot) wEmRTES mintb

58 Sibdhi

Options:
1.4



5 seconds

5 28k

8 seconds

8 28k

10 seconds

10 28

12 Seconds

12 28X

4, % ”

Question Number : 147 Question Id : 3350524147 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Two trains Tyand T, start at the same time from two stations P and (

respectively to reach stations ) and P. After passing each other T;and T, take
12 hours and 3 hours to reach the stations Q and P respectively. If the speed of
the fastest train is 48kmph, the speed of the other train is:

T $H8c T @ Bodk 3P P H0c Q@ dad 5§ o Mhchod
A0HeNT0 Q $H805 P DS Thaon. Ti HB0W T: e rdHig08
25RFES B SHhard Q P RAD THOK B dedoko 12 Hotyen
580t 3 floten. 3otk B8 o Naireioch Ben Bk Jto Hot
488, . 0@ TS0 (Hoseedo Beoo Ftfdw__

Options :
1. %



96kmph
Kotk 96 Eudan

24kmph

Kotk 24 &udon
2. ¥

36kmph
Hotxd 36 Eudun

25kmph

Kot 25 &nudon
4, %

Question Number : 148 Question Id : 3350524148 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Kede Rrabdds0

Time taken by A to finish a work is twice the time taken by B and thrice the time taken by
C. If all of them work together, it takes 2 days to complete the entire work. Then the time
taken by A. B. C individually to finish the wotk 1§ ----, ---- and ---- days respectively:

28 530 Swhohtd A § S8 odkin B ¥ok B0t Bl %08k C $oB dweth By
Shocbs $t%08. gk $R0 voktr Yob 2 Bred® hcddS aF¥Sm A.B.C
© &0 dnholR8 5B Kbk $Ekw .. Faw.

Options:
10,6 and 5
10, 6 8080%: 5

1. %

2. ¢



12. 6 and 4
12. 6 08050 4

11.6and 5

11. 6 8% 5
3. %

10.5and 4

10, 5 8% 4

Question Number : 149 Question Id : 3350524149 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Ked& Ardyd g0

Two products are sold at I 300 each, where one product gives a profit of 20% and the
other product gives a loss of 20%. The total amount of Profit/Loss is:

Botd &P &?&é&ﬁ 3300 3pR @&:&3 B SR 2058 eFsn Bok
S 20 T8 Eéés’m 55'5_0. g @:ﬁ:&éa’més 3 e [ 5@5&3.

Options:
No profit or loss
ordn Sk T8 S5 8%

X 25 profit
X 25 gl

T 25 loss

V5 Eh L.
Lo J25658



T 20 loss

% 208550
4, % =

Question Number : 150 Question Id : 3350524150 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @0¥Xe8e arddso

If 3*7Y = 27, 3**Y = 243 then (x,y) =?
357V =27, 3" = 243vom8 (x,y)Reodw

Options :

(2. 4)

(1.7)

(1. 4)

4. 1)

Question Number : 151 Question Id : 3350524151 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥/edd 8,50

If selling price of an item is doubled, the profit will be tripled. What is the original profit
percentage?

2.8 81 LS &8 Soth By Dol ey Sartitky Wibibod. ©ond V3w
cdTdin dod?



Options :

100
1.+

50
2. %

25
3. %

10
4, ®

Question Number : 152 Question Id : 3350524152 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥Kede 0830

The ratio between the speeds of two trams is 7 : 8. If the second train runs 400 km in 4

hours, then the speed of the first train 1s:

Bot B @) 3fidoe D58 7 8. Bok B 4 Hotwd® 400 Bndn HutrBon3

b Beo God) o
Options :

70 kmph

Kot 70 &ndon
1. %

75 kmph

Kot 75 &ndon
2. %

87.5 kmph

Kook 87.5 Zndon



84 kmph
Kot 84 &ndon
4, %

Question Number : 153 Question Id : 3350524153 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability  @o¥Kede 850

The smallest five digit number that is divisible by 22, 33 and 44 is:
292, 33 oBcsw 44 ﬁoa;;)enss arAodadh 53%1 ntosy Jogy :

Options :
10012

10022

1003

)

10042

Question Number : 154 Question Id : 3350524154 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @o¥He3& 850

& 3
22 +27as
If ——

G) . +3a
|
3

1 2
& 2 —kas +9.as. then k=2
3

3
22 +27a5 . i 2
lez—k(15+9.ﬂ5@m3 k=

47 +aas o
Options :

—V6

1. %

Question Number : 155 Question Id : 3350524155 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @o¥Ke3ed ¥ 50

The number of positive divisors of 2025 1s:

2025 Hogy Gn¥) FRgratine dogy

Options :

15

20



Question Number : 156 Question Id : 3350524156 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥te3e Rr830

In a mixture of 60 liters. the ratio of milk and water 1s 2 : 1. If this ratio 1s to be 1 ; 2. then
the quantity of water to be further added is:

60 D08 Ko dree HBuw N8 M(Fos, drw B AR ¥ 211 38 B
Srlyl DFEPR8 Sensibeds N8 Sodrmdn

1:2%

LGo

Options :
10 liters
10 He8;
1. %
20 liters
20 Hedy
2. ®
40 liters
Ly 40 ey
60 liters
60 ety
4.

Question Number : 157 Question Id : 3350524157 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability  @o0¥Kg3ed P50

T e | = W— .

Options :

V2 +4/13

V3 +413
2. %

V7 ++/13

3.

JIL 4413

4. v

Question Number : 158 Question Id : 3350524158 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0%tied& P80

An article A 1s sold for ¥ 200 more than selling price of another article ‘B’. If ‘B’ is sold
for 5% less than that of “A” and the cost price of ‘B is ¥ 2500, then what is the percentage
of profit on ‘B*?

A 03 5% ok §8 B R i %08 3200 068dn. B A %oB 5 8k
S o8 H0ckn B Gy irb 58 32500 wonks® B D8 i

Options :

51%
1. %

529
2.9



Question Number : 159 Question Id : 3350524159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Kede Rrerd g0

A 7-digit number 345a812 1s exactly divisible by3. Then the number of possible values of
ais:
7 woBes o 3452812 Sogy 38° Phodmdd, ‘@’ § aR) desidbes FEo?

Options :
2

1. %

L4k

Question Number : 160 Question Id : 3350524160 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥Kede P50

A pipe 'P' can fill a tank in 20 hours and another pipe Q" in 30 hours. If both pipes are
opened in an empty tank, how much time will they take to fill it?

28 b0k P o 298 Qo 20 Koben 80 Q 9% 298 o 30 Kokw
Stodod. Both Pde adGrAols Tike e ol Rosdkelh 38 Kibabin__

Options :
12 hours
12800
1.+
15 hours
1580ten
2. %
20hours
208080
3. %
50 hours
508ctes
4, %

Question Number : 161 Question Id : 3350524161 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ ©90¥Ke3e Rrad8 0

The average age of 10 children is 14years. If two children of ages 13years and 10 years
left this group and another two children having ages 7 years and 6 years joined, then the
average age of this new group is x. If the two children who left from the original group
rejoins this new group, then the average age of this group is less than x by:

26500 dyy Juririn Sk $0b) 14 Sondinen. 13 Sokd)Sine b

10 Sosd\3inen Ko 388 byes SRy ol adkhbBil), 790k 6 Sodddine
Ko %6° 288 by Shmibind’ 368 Qo @ Sl SH Sobd) X

Serin S0 wdbe SO¥ 13 Jone £ 10 Sonw $6) fo Sye by
Shmirdado F68ipd Krdd el Gk S0 Sabik) X €08 Kon 845,

Options :

Eal M

2. ¥

IR

Question Number : 162 Question Id : 3350524162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥Ke3d 80

The price of an article mcreases by 20% and then decreases by 10%. Then the net
percentage change is:
o8 & Go¥) §8 20588 0D 8450 10588 SNoDSE © Sihp Th8 REGKRG

T

Options :

9% 1ncrease

8% 2B dod
1.¢

10% increase
, 10% &% K808

8% decrease

8% S od
3. % &

10% decrease

10% sSK8:08
4, ® g

Question Number : 163 Question Id : 3350524163 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @o0%KXeSe A8 50

The last digit of 7'% is:

710%0395 cB:oégr D28 ©wos

Options :



-2

Tl

Question Number : 164 Question Id : 3350524164 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥Ke3ed 850

x—=1 x—3
a b
(—) = (—) then X = ------- .
b a
i x-1 b x—3
57 - () st -
b a —
Options :
2
1.¢
3
2. %
4
3. %
5
4, ®

Question Number : 165 Question Id : 3350524165 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥Xede a8 g0

If today is Monday, then the next 314™ day from today falls on the day:
& B Phomrdin vowd & Fuhod 3145 &' ©dHHhod.

Options :
Thursday
BT8R0

1. %

Friday
L(Besan

2. %

Saturday

3 v SRTEIW
Sunday
QTSR

4. ®

Question Number : 166 Question Id : 3350524166 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ ©90%e3¢ Rrd30

The total surface area of a cuboid of length 1 =5 cm. width b=2 cm and height h = 3cm is
------ (. C.

& 1=5 Ro.d., 3heg) =2 To.&. HBk 38 1=3 0., $9A% Hrd Gl
asbde e S0,
Options :

50



2. %

62
3.¢

70
4. %

Question Number : 167 Question Id : 3350524167 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥ie3& rand g0

A conical chamber with the same height and base diameter is created from a solid cylinder

of height 18 cm and diameter of 14 cm. The rematning solid’s volume is around (take
22

m==).
7

o o @8, 3% 18 Do, bt Ty 14 0., drdiy 2686 Hbd

fraitd Sirbinh Sop o6 b RGOS, driing HAOY ks Y

oo SBdeedy

Options :

1888 c’
. 188850n=oill

1448 cm’

1448 Son7on
2. %

1848 cm’

1848 Sonzeon
3. ¢



1998 cm’
1998 Sonwon

Question Number : 168 Question Id : 3350524168 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥e3e Aran830

Suppose a, b, ¢ are real numbers such that a: b: ¢ = 3:2: 4. Then Va® + 6b* + % is
equal to:

0, b, c %089 5 Sogpes H6ok B DY a:b:c = 3:2:4 woud
va? +6b? + c2dead .
Options :

a—+ 3b

a+ 2b

b+ c

a+b+c

Question Number : 169 Question Id : 3350524169 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥Kefe AR08 50

If[x —y| <5 and |x —y| = 2 then the maximum integral value of y, such that x is
always negative is;
[x—y| < 5&8ck

A8 Jrpod dend wod?

X~ 22, X dyipdr awe Pposis sowd ¥ G

Options :
0

1. %

Question Number : 170 Question Id : 3350524170 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @o¥Xede B0

1 1 1 )
+ fasansh =
2X3 3X4 49 X 50
Options :
12
25
1.4
8
25



29
50

47

an 20

Question Number : 171 Question Id : 3350524171 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥Kede e 50

The sides of a triange are in the ratio 3: 4: 5. Then the measure (in degrees) of the largest
angle of the triangle is:

o8 [Bhzo G¥) fhore A8 3145 oo © [Beas G¥) Frod’ 16 ol
(BAeé’)

Options :

90°

Question Number : 172 Question Id : 3350524172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0%Xe3¢8 P80

Which of the following arrangements of rational numbers in ascending order is correct?

o8 (§bidnd® (ehads Bob 8B Soged® 06 $3%8?

Options :
5 3 7
8 4 10
1. %
3 5 7
—_—— — — N —
| 8 10
2. ®
7 5 3
10 8 4
3. %
3 7 5
—_—— __.-;_*:__
4 10 8
4.+

Question Number : 173 Question Id : 3350524173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Arithmetical Ability ~ @0¥/ed& A8 0

In a function hall, 21 yellow chairs, 42 red chairs and 56 orange chairs have to be put i a
row such that each row contains the same number of chairs of one colour only. The
minimum number of rows in which the chairs may be arranged is:

21 5 &5&@3, 42 %% &5&@; 2000 56 FBoxsold éaéaew flo 2.8 H08S Hens®
58 $5ne’ $ked sogy fl &53&: 23 ok’ e, & orr !:‘oég,a:fa: @&Bﬁz‘f 885
S dogy

._\J '

Options:



17

1.4

21
2. %

27
3. %
4 x 34

Question Number : 174 Question Id : 3350524174 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ ©@0¥Ke3& Rradd g0

The least number which, when divided by 6. 9, 12. 15, and 18, leaves a remainder 5 in
each case is:

6.9, 12, 1558k 188" srhosahdr SEikom k) 408 Sogy .

5]

£

Options:

185
1.4

L4d
N
Lh

1850

Question Number : 175 Question Id : 3350524175 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0%4ede P50

If a number is divided by 15, it gives a remainder of 7. What will be the remainder when
the square of this number is divided by 157

2.8 dogg 15 3 RS i) 350 7 vond © Rogy Q) égm& 15 3 erhosm

5% Bk
Options :
1
1. %
2. ® .
3
3. %
4.+ 3

Question Number : 176 Question Id : 3350524176 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ ©0¥Ke8e Arad8 0

A man on a boat goes 10 km upstream and comes back to the starting point in the same
path in 55 minutes. If the speed of the stream 2 kmph, then the speed of the boat i still
water is:

68 s 0.8 8 28 Haesro® 10 Bl (Sobrdod 86A 63 éﬂéi‘aé‘s 2dbend6d
$3eR8 HERS 53 dnire Shdod. O Hade Go¥) 3 Howd 2 &ndou
wowd $45 3de M8

Options :
1. %



25 kmph
Koo 25 &udo

27kmph
Kot 27 &ndo
2. %
22 kmph
3 v Koo 22 &ndn
30 kmph

Kotk 30 &ud
4, %

Question Number : 177 Question Id : 3350524177 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ ©90¥Kee Rrd850

The average of runs of a cricket player of 10 innings was 32. How many runs must he
make in his next innings so as to increase his average of runs by 4?

10 sRothed’ uf (836 vmd St Shibes 32 $6had aRohis’ A7) Sthiben 33
Bd) S % dw 4 Dkdod?
Options :

60

1. %

64

- 70

76
4.



Question Number : 178 Question Id : 3350524178 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arithmetical Ability ~ @0¥Ke3& Rrad30

If ‘n!” denotes the product of the integers 1 through ‘n’, what is the remainder when
(104214 31+ 41+ 51 4+ 6!+, ... )is divided by 9?
‘N0 836 1 %ol ‘1'H8% Ko Frodine vl Srdods,

U243 +41 450 461+...)% 9 3 rhodm & 3dde .
) -

Options :

Question Number : 179 Question Id : 3350524179 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ 084edd Rr¥ g0

. S ; - '
The number of revolutions made by a wheel of radius r; to cover a distance of 5 - km is

2500, while another wheel of radius r, made 3125 revolutions to cover the same distance.
Thenr; + 1, =7

?wg]ﬁ“g&a Ko S 5§§un&.&u Srsn HairdoseRs T (pierw wogp 2500.
e o 2088 SEw o8 Srdin Heirdolmad I3 (phere nogy 3125
oondS 1+, =
Options :
60 cm
_— 60 ok
61 cm
61 Donds
2. %
62 cm
62 onde
3. %
63 cm

63 Donds
4.

Question Number : 180 Question Id : 3350524180 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arithmetical Ability ~ @0¥Kede Rr¥ g0

The population of a city increases by 5% annually. If the present population is 10,00,000,
then the population after 3 years is:

2.8 dhmin Gl 2T 38 SoddBin 5 wdin Dhibkod. © Smin (998 ame
10.00.000 woxd 3 Sod)Bkny S S wwp_
Options :

11,57.620

11.,57.625
2.

11.57.630
3. %

L1.57.0835
4. %

Question Number : 181 Question Id : 3350524181 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ D2:ffe3¢$ 80k Barifedes Arvdgo

The equation of the straight line passing through the point (-1, 2) and perpendicular to

the line x + 3y = 4 1s:

(~1,2) Doteshtbom &% x + 3y = 4 ¥8¥0u% vontnr® dotb K8¥0y Psadn .

Options :
TR
3x+y+1=0

2. %



X —y+5=0

3x—y-410 =10

Question Number : 182 Question Id : 3350524182 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ Z)2aHeSe S8k Dartiede rand0

- ~ . 2 i : 5 .‘—2 i ]_
The distance of the point (1. 6, 2) from the point of intersection of the line lT = % =

%and theplane x —y +z=161s:

8660 — = 2= = Sttt Soin x - y +2°= 160 pot Do fod (1.6.2)
Dok o Sr8in .
Options :
11 units
1150y
12 units
5w 1205006y

13 units

130806
3. %

14 units

14cs=Res
4, %

Question Number : 183 Question Id : 3350524183 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability 2S¢ S80%w Bgriieded A0

cotA-cosA cosecA-1 _

cotA+cosA rosecA+1

Options :
0
1.¢
|
2. %
V2
3. %
-1
4, ®

Question Number : 184 Question Id : 3350524184 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2z3ie3e 605N Vgriieded Aradso
The circumradius of a triangle with sides 7, 24, 25 1s;
7, 24,25 gheren BOAR (Bebasiin Go) 5688 a:ne;@“gs'm :
Options :

12.5
1.¢

21

28



56

Question Number : 185 Question Id : 3350524185 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2)235e3¢8 805 Tarieded 830

Consider the logical statements P, Qand R. Then (~P'V R) V (P A(~RV(Q)) is equivalent
fo:

P,Q%60% R w0 o8¢ (§5e0ad, (~PV R)V (P A(~RVQ) ety siobaty

Sedko
Options :

RA (QV~P)
1.

QV(~RAP)
2. %

PA(QV~R)
3. %

RA(~PVQ)
4, ®

Question Number : 186 Question Id : 3350524186 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Algebraic and Geometrical Ability ~ 2)224e3e S8k TgrHeded Ardd g0

Iff(x)+2f G) = 5x + 2, fora polynomial f(x), then f(3) =?

F(x)sid miosh Shrdn %6 F(1) +2f [l) = 5y + 29008 £(3) Deod

X

Options :
11
1. %
10
2. %
1
9
3. %
1
4. &

Question Number : 187 Question Id : 3350524187 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Algebraic and Geometrical Ability ~ D23tiedes )80k Dyriieded A0

fA={xeN : x2<25}andB = {x € N, : xiseven,x < 10}, then A NB is:
A={x €N, : x* < 25)%8d% B= {x € N, : xiseven,x < 10}ood ANB__.

Options :
1.¢ 124}

{4}

2. %



(2.4,6)

(2.4,6,8,10}
4, %

Question Number : 188 Question Id : 3350524188 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2)z{e8e S8k Tariiedd Ar&ds0

Ifasmd+bcosh=c. (acosh-D sinE))2 =
asind +b cosh = ¢ wond (a cosh—b 51'119)2 =

Options :

i
a4 -b+c
2 2 2
a2 +b°—c
2 L L
a =iy =g

as+b*+c?

Question Number : 189 Question Id : 3350524189 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2)23ie3¢ 2080k Dgriiede A o

The four points (1.7), (4. 2). (-1.-1), (-4. 4) form & -------- .
Feoth Hotbden (L.7). (4.2), (-L-1). (-4.4) % 5%k,



Options :
Trapezium

Ssoeon {Sézd@a&a

Rhombus

Square
S 8|S0

Rectangle

S EE
4, %

Question Number : 190 Question Id : 3350524190 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Algebraic and Geometrical Ability ~ 2)231{e3e 805 Bgriieded Aradso

T -3
If JE <x<mandtanx = - then cosx =?

i -3
SR K mdoBods tan x =T@r:oc'-:5 oS X =

Options :
=3
5
1. %
3
5
2. %



& || =N

—4
5

4. v

Question Number : 191 Question Id : 3350524191 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability Ker0¥ rdg0

The mean and median of the data a, b and c are 50 and 35 respectively, where a <b <c. If
c-a=>55, thenb-a=

a.b, ¢ 6% Srth Sogpen B Ehing add. wobatoam wbde Mg
S50 50 %08ckn 35, c—a=55%00na b-a=

Options :
5
1.9
v
2. %
3
3. %
4, ® 8

Question Number : 192 Question Id : 3350524192 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Statistical Ability Hegr0¥ 0850

The standard deviation of 10, 16, 10, 16. 10, 10. 16, 16 18-------- .
10. 16, 10, 16, 10, 10, 16, 16 Sogge Gn¥) [EddSodo

Options :

Question Number : 193 Question Id : 3350524193 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability Ke308 Ar 50

The data of marks scored by 11 students in a class are 223, 217, 237, 255, 243, 218,265,
279,263, 233,227, the median s:

28 8666° 11 &b dmghen M%) S dryen 223,217, 237,255, 243, 218,265, 279,
263,233, 22 Toowd S deok_ .
Options:

227



Question Number : 194 Question Id : 3350524194 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability {e0¥ 850

In a distribution if mean is 4 and coefficient of variation is 75% then the variance is
28 Derading® g 4 Bdn dvrodin T5% PN W8 =

Options :

3
1. %

27
2. %

81
3. %

9
4.+

Question Number : 195 Question Id : 3350524195 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability fer0¥ Ar$ 50

If the probability P(x) = 0.8 and x = 3. then find the expected value E (x) =?
P(x) = 0.8%80% x = 3 wowd E(x) 9208 agk?

Options :
2.6

1. %



2.8

2. %

,x 22
2.4

4. v

Question Number : 196 Question Id : 3350524196 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability fer08 P850

The mean and standard deviation of a set of values are 30 and 8 respectively. If a constant
value 5 1s added to each value of the set, then the coefficient of variation of the new set of
values 1s:
2.8 NHogFR8 @8 vobioin B EdEed deder HGIm 30 &0d 8.
2.8 2’36 vogy 5% © Sogwy $068° (56 Jenid S0B8 ke i) B8 Sogey S8
Gof) dfomrosin .

Options:

37.5%

26.66%

37.14%

Question Number : 197 Question Id : 3350524197 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Statistical Ability (fer0¥ rd 50

If two balls are drawn from a bag having 5 red, 4 black and 6 blue balls, then probability
of getting both the balls are of different colour is;

5 %% mothen, 4 B nodes H86 6 Do) noer ZDAY Kod Lol Bod moded
358, © Bo modhe 556563 Botben T8 flo Vogrips

Options :
74
105
1.4
15
68
2. %
54
68
3. %
21
105
4, ®

Question Number : 198 Question Id : 3350524198 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability e08 Ara 50

Two dice of two different colours thrown simultaneously. Then the probability of getting
two numbers whose sum is an even number 1s:

365& Boen Z0A% Do FDlod 2370 58008 © Bolod ] 533 ©o30 Indsy
Rodogy RS fo dogrid

Options :
1. %



Wl =

|

2
2.

4
3. % 2

5
4. % b

Question Number : 199 Question Id : 3350524199 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability fer08 AP0 50

Four groups of students, consisting of 15, 20, 10 and 18 individuals, reported mean
weights of 162, 148, 153 and 140 pounds respectively. The mean weight of all the

students is:

et Ayl i’ ao8 dme Sogy 15,20, 1056d 18, © Sririe
Gy e ot S 162,14815300 14020 oand S oo d
o)

Options :
140 pounds

14020

150 pounds

1508rP0ty
"‘v'/ ]



160 pounds

160870

165 pounds

1658P0

Question Number : 200 Question Id : 3350524200 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Statistical Ability K08 AP0

From well shuffled pack of cards (52), what is the probability the card drawn is a
diamond, spade or a club?

PP 0% 52 dudes $OAK ¥ Kol af &Y B85S vb Bhok, Y S
s k) THERE Sogrigd

Options:

0.25

1. %

0.29





